(EPNCUEAL: 47

5F 60kg

1

FEIVY L

188 | 2HBE
[NO] KE % [ Re/se | #E | 1E . 2@ A RIS HESRIS RIS
1= ) Mow T e
327
= BEsERE -
2 “l % == 9€ 14 B VSU 2:18
- - e s 0-10
38 B 2 Kk T e |
2% 3-43
N N . BER
J|\ S i BEE —
4 /] /= Ak 1E FER VFA 0:58
o o =3 4-0
sEEB XA T R
328
— HIREHE —
N : 0-4
7B E — B Y mae .
z.i 354
8 F # W A " wmm
15 VSU 1:14
P _ 10-0
oMl B B kx 7 mmw
% 329
= a B RO
o H A X 148 IR VSU 1:43
. " 2 - 10-0
nE K H B T Tz
24 3-44
= P& =E
12/ = & pr3 TRIR e
— 10-0
B3R B 5 — " mes
1 3-30
o VB X KH g
14 F & E KX BA e BRI —
. o TEER g 0L
15 & H v 2 BER EPEDIN
2 = B e R-6
166 H B B 21 IR VPO1 6:00
e G -3
7R B OB OHF U mxe
% 331
= B BER BEE
1857 Wl & D i e FER e
e s 10-0
9B R M B Y zme
1% 3-45
20A W = & T mem .
s VFO
208 B oW s HIEdE]
2% 332
s mp g MOESEEmEES
22 & U PLS AR —ros
o 0-10
BHE LM B E T mER .
355
»oO 2 AL RAZA ey
24 jJ[I = H *\ EE 14 B VPO 6:00
B5F [ K B T e e——
2% 333
HRSISEERRE |, =
268 Il K K % ARIR s
= 11-0
w7 B B FUER e
1% 3-46
SR sp B - .
28 A 2 i pr3 THRR e
N ! 31
20 A B+ Y mke
2% 334
2 SR AN R =]
308 5 F 8 B 14 AR VSU 1:17
- 0-10
su, W F OB Y Fma |




